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Lesson 2: Activity 3 

Worksheet 1 - Compilers
Produce a graphics organiser to compare the differences between Low Level Languages and High Level Languages with similarities in the middle.
A compiler is a language translator that transforms source code written in a programming language into machine code (also known as object code). A compiler produces this executable program (Object code)
Machine code consists of 0’s and 1’s and is directly understandable by the CPU. Therefore High Level code must be translated into Low Level code so that the computer can understand and execute it.
A compiler will go through the entire source code in one go, translating the entire source code at once. It will optimise the code as it does so.
If a compiler encounters errors, it produces an error report that it outputs along with the object code.
Compiled code tends to execute much quicker than interpreted code
Compilers tend to be used once a program development is finished so that the program can then be shipped out to customers and no compiler is needed during run-time. Customers therefore will not have access to the source code.


Task
1. Read through the above text explaining what a Compiler is – underline/highlight key aspects
1. Produce a summary sheet of the text using at maximum 10 words – the rest of the summary sheet must be made up of pictures/diagrams/symbols/numbers/initials
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Worksheet 2: Interpreters
An interpreter analyses and executes each line of a high-level language program without looking at the entire program. Execution will be slower than for the equivalent compiled code as the source code is analysed statement by statement (line by line) during execution.
As each statement is analysed the interpreter calls routines to carry out each instruction. No object code is generated. This means the program has to be interpreted each time it is run.
The advantages of interpreters over compilers are that a program can be executed immediately without having to wait for it to be compiled. If a compiler and an interpreter exist for a high-level language, a programmer may use the interpreter to test sections during development
When an interpreter is working – if it encounters an error it will stop the interpreting and flag up the error to the programmer.


Task
1. Read through the above text explaining what an Interpreter is – underline/highlight key aspects
Produce a summary sheet of the text using at maximum 10 words – the rest of the summary sheet must be made up of pictures/diagrams/symbols/numbers/initials

Example to get you started
A compiler is a language translator that transforms source code written in a programming language into machine code
Could be summarised with sketches of the following:
Transformer logo – bottle of tomato sauce – few wiggly lines (represent code) – an arrow pointing towards a machine – followed by code.
Example to get you started:
each line of a high-level language program without looking at the entire program
Could be summarised with sketches of the following:
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